A F Y = (20204 )

PR A HEREZ | HERB | HBEE| RS =& HH & BF Bits =IE R =
B I K F &
o | B[ 100 100 50 50 300 N
FLyREEEM A 21 | 4 |G [BEFH[ 530 | 701 | 47 | 323 | 1910 RER g s
ZEH)| 454 53.6 29.8 255 154.3 N
~ |B & 100 100 50 50 300 3 - N
F LR EE A B 22 | 4 | 5 [EFH[ 709 635 336 33.0 201.0 181 gggﬁ”;{?ﬁf;f;%
ZEH| 612 40.5 28.4 27.7 1578 el =
i = 100 100 100 100 400
] n 108 1/20 4 2 [&FY - - - - - 226
ZEH| 532 54.3 56.8 55.0 219.3
Bl & 100 100 100 100 400
] I 1[8] 1/20 4 T | &FY - - - - - 226
ZE¥| 568 471 53.7 51.0 208.6
B = 100 100 100 100 400
] i 2[g] 2/4 4 B |&Ft - - - - - 269
2| 526 54.0 62.9 56.7 226.2
[ 100 100 100 100 400
] I 2[H] 2/4 4 Z | &FY - - - - - 269
ZEH| 562 48.9 62.2 54.7 222.0
~ |BE = 150 150 100 100 500
A== B F| 1EEX 1/17 4 §: S| 1212 128.3 71.9 49.6 371.0 346
2B 109.3 105.9 61.7 38.6 315.5
~ |BB & 150 150 100 100 500
IR 2 m F 1EER 1/17 4 % SEH| 1194 123.8 66.7 483 358.2 330
ZEH| 1059 99.5 56.8 36.8 299.0
~ |BE = 150 150 100 100 500
A== B F| 1EEEX | 1/17 4 §: S| 1120 110.6 64.8 40.7 328.1 297
2B 977 84.4 53.1 32.0 267.2
~ |BE & 150 150 100 100 500
LRE I # R F| 2EEKXK 1/25 4 §_ EFH| 1058 96.5 55.8 66.5 324.6 286
ZEH|[ 939 76.6 47.0 57.0 2745
~ |BE = 150 150 100 100 500
IFE 2 B F| 2BER 1/25 4 ; &SI 104.8 92.1 54.9 65.3 317.1 287
2| 907 72.9 46.3 55.5 265.4
~ |BE & 150 150 100 100 500
SIFE N 2 B R F| 2EEEK | 1/25 4 § &FE| 930 79.0 50.1 57.6 279.7 247
ZEH|[ 820 62.5 413 49.1 2349
B = 100 100 50 50 300 XRESTELXSE
X =) 3] |57 108 1/10 4 B | &FE8| 767 70.5 29.8 315 208.5 T205 S190
ZEH - - - - -
Bl 100 100 50 50 300 XBEESIELEE
X B (i 5 1[0 1/10 4 Z | &5FEH| 821 67.5 29.1 29.8 208.5 T205 S190
S - - - - -
i = 100 100 50 50 300 , XEEHIELXRE
X = B E| temEik | 1/12] 4 | B [BEH| 689 755 293 292 202.9 Tﬁéﬂsz?s%
2 - - - - -
B 100 100 50 50 300 J XRESTIELEE
X = B B $EEER | 1/12 4 Z |&FEHl| 735 734 28.3 29.1 204.3 Tﬁg‘?z?s%
S - - - - -
Bl & 100 100 50 50 300 XRESIELEY
X =) (3] % 2[H] 1/14 4 B | &FEy| 744 70.8 28.6 29.2 203.0 T200 S190
2 - - - - -
Bl 100 100 50 50 300 XRESTIELEE
X =) (] 5 2[H] 1/14 4 Z |&FEHl| 792 68.5 28.5 26.5 202.7 T200 S190
S - - - - -
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A F Y = (20204 )

R HEREZ | HEA | HEH(RS =& HH & HF BEtm =RIER =
B M 100 120 60 60 340 4241 XRESTIELEYE
B = 108 1/10 4 B [&Fy - - - - - —192 # |XFEk=5%kIH.
2EH| 674 724 345 324 206.7 311 —=—F =i
Bl & 100 120 60 60 340 42241 XBRESIELEYE
i = 1[8] 1/10 4 T | &FEH - — - - - —192 4 |XFEk=5%ifk.
ZEH| 726 69.6 33.7 30.2 206.1 311 —=—F =%
B m 100 120 60 60 340 XRESTIELEYE
B = ZkimEE | /1 4 B |8 - - - - - 189
ZEEH| 61.0 52.1 30.9 26.3 170.3
Bl & 100 120 60 60 340 XBRESIELEYE
i 2 EumtER | 1/11 4 Z | &FEY - - - - - 189
ZEH| 655 46.8 31.6 24.6 168.5
B = 100 120 60 60 340 XRESTIELEY
B 2l KZiRA 1/12 4 2 |&FY - - - - - 56195 #5250 % =2cin. =151
2| 580 50.3 38.3 37.8 184.4
Bl & 100 120 60 60 340 XBESIELEE
B Hl KimA 1/12 4 Z | &FY - - - - - 5195 452503k =2tinm. $5=4%1F
ZEH| 619 471 374 35.1 1815
B = 100 120 60 60 340 XRESIELEY
B =l LB 1/13 4 2 |&FY - - - - - 5174 #2451k =%ih. BH=15H1F
ZF¥| 589 438 30.6 28.3 161.6
Bl & 100 120 60 60 340 XBESIELEE
5] 2 %LiFEB 1/13 4 i | &Ft - - - - - 174 $H245| X%k =5%in. B=45F
ZEH| 635 39.2 29.1 25.4 157.2
[ 100 100 50 50 300
E %2 Kk A 0 1[A] 2/1 4 B [&FEH| 729 74.3 37.1 36.9 2212 207
2| 608 61.8 32.1 315 186.2
[ 100 100 50 50 300
E %2 Bk A 10 1[A] 2/1 4 Z | &FEH| 764 71.6 35.8 33.0 216.8 200
ZEH[ 690 61.1 31.3 31.0 192.4
B = 100 150 250
E %2 Kk A w| SsT1E  |2/14#| 2 B2 [&FEH| 690 108.3 177.3 156
2| 606 84.6 1452
[ 100 150 250
E Z Kk A Wl sT1E  |2/1F%| 2 Z |&FEH| 710 97.1 168.1 146
ZEH| 666 76.9 1435
B = 100 100 50 50 300
E %2 Kk A 10 2@ 2/2 4 B [&FEH| 775 70.7 37.4 29.8 215.4 200
2| 638 58.4 31.1 26.3 179.6
Bl 100 100 50 50 300
E Z Rk A ] 2[H 2/2 4 Z |&FH| 798 69.9 36.1 30.6 216.4 192
ZEH|[ 699 58.4 31.4 26.0 185.7
B = 100 150
E %2 Kk A w|  sT2@E 2734 2 B [&FEH| 755 116.2 191.7 180
ZEH| 614 87.2 148.6
Bl 100 150 250
E Z Kk A w|  SsT2[E  |2/3%F%| 2 Z | &FEH| 7541 110.9 186.0 172
ZEH| 666 78.9 1455
~ |B = 100 100 50 50 300
& x | EZI1  |vioFE| 4 % EEH - - - - - 184
ZEH| 631 49.2 35.4 29.7 1774
~ |BE & 100 100 50 50 300
s £ | MK |1/10F8 4 §_ 5 - - - - - 166
ZEH| 633 51.7 36.5 30.4 181.9
~ |B = 100 100 200
1% £ #| =D |oFz| 2 % &FHY - - - 126
ZFH|  66.3 61.3 127.6
~ |BE & 100 100 200
& x ¥| MBARI |viovl 2 | o [BFH - - — 120
ZEH| 664 61.2 127.6
~ |B = 100 100 50 50 300
% E ¥ EFI 1/11 4 % EEY - - - - - 185
ZEH| 608 52.0 33.7 26.4 172.9
~ |BE & 100 100 50 50 300
15 £ x| OMBERI | 1/11 4 % &y - - - - - 180
ZEH|[ 630 53.9 34.7 27.3 178.9
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A F Y = (20204 )

PR A HEREZ | HEA | HEH(RS =& HH & HF BEtm =RIER =
2 i = 100 100 50 50 300 s180 B | o
G A 1/10 4 5 &y - - - - - 162 HKE=H K, #—%p
ZEH)| 588 56.0 279 29.1 171.8
~ |BE & 150 150 75 75 450
B ERAREEFI| 1/11 4 % PN - - - - - 256
ZEH| 947 68.4 428 457 251.6
~ |BE = 100 100 50 50 300
® B 1/18 4 §t BFH - - - - - 235
ZE¥| 695 78.6 36.7 37.8 222.6
~ |BE = 150 150 75 75 450
® mAD [ e | o |5 [EEH[ - - - - — | WO R |kxsqren
ZEH| 996 77.1 494 454 2715 XE=1F.F=EXK
B = 100 100 50 50 300
HRBERZRE%S 108 2/1 4 B [AFEH| 646 59.9 29.7 375 191.7 177
ZEH|[ 529 50.8 26.1 335 163.3
Bl & 100 100 50 50 300
EREBEEERES 1[8] 2/1 4 Z | &FEH| 677 60.5 29.6 38.0 195.8 188
ZEH| 592 493 26.4 343 169.2
[ 100 100 50 50 300
HRBEZRES 2[H] 2/2 4 B [&FEH| 551 78.1 33.0 26.9 193.1 168
2B 474 65.3 29.6 234 165.7
Bl & 100 100 50 50 300
EREBEEERES 2[H] 2/2 4 Z | &5FH| 628 75.8 32.6 27.8 199.0 182
ZEH| 512 52.8 27.0 224 153.4
[ 100 100 50 50 300
HRBERZRES 3[E] 2/5 4 B [AFE| 566 67.0 32.5 38.1 194.2 184
2B 476 51.9 28.7 33.3 161.5
[ 100 100 50 50 300
BEZEES 3[H] 2/5 4 & |&FEH| 654 70.4 32.0 38.2 206.0 194
ZEH| 521 49.2 28.1 32.8 162.2
~ | = 100 100 75 75 350
HEBEEZRER 1R 1/22 4 § &5F| 560 61.3 474 57.1 221.8 204
ZEH| 488 450 431 48.9 185.8
~ |BE & 100 100 75 75 350
EREEFXERE 2 2/2 4 §_ SFEH| 593 56.5 442 575 2175 203
ZEH|[ 509 32.1 36.8 46.8 166.6
~ |BE = 100 100 50 50 300
2R FE 1[A] 1/22 4 § &F| 550 55.0 32.0 24.0 166.0 151
ZEY - - - - -
~ |BE & 100 100 50 50 300
¥R F E 2] 2/2 4 § AT 540 57.0 31.0 30.0 172.0 167
S - - - - -
B = 100 100 50 50 300
% 108 2/1 4 B | &F8| 609 741 35.8 29.7 200.5 183
2| 533 57.9 30.8 25.9 167.9
Bl 100 100 50 50 300
i3 108 2/1 4 Z |&FH| 658 72.1 36.1 29.4 203.4 191
ZEH|[ 607 60.8 315 26.3 179.3
Bl & 100 100 50 50 300
% 2[H] 2/4 4 g2 | &FEy|[ 704 71.4 35.7 315 209.0 205
ZEH| 636 64.2 30.6 27.8 186.2
B 100 100 50 50 300
23 2[H] 2/4 4 Z | &FH| 806 84.0 38.4 31.8 2348 222
ZEH[ 719 68.9 31.2 27.8 199.8
B = 100 100 50 50 300 XERAIELEE
T XK #® F 108 1/20 4 B [&FEH| 714 71.4 30.1 39.2 211.8 194
ZEH| 649 60.0 26.3 35.0 186.2
B 100 100 50 50 300 XERERITIELXEE
g X & F 1] 1/20 4 i |&FH| 758 69.4 28.8 39.4 2134 194
ZEH[ 704 58.2 24.8 35.0 188.4
B = 100 100 50 50 300 XERAIELEE
T XK #® F 2[A] 1/26 4 B [&FEH| 631 69.8 34.8 35.4 203.1 187
ZEH| 535 52.1 29.2 30.4 165.2
B 100 100 50 50 300 XERERITIELXEE
g X #© F 2[H] 1/26 4 Z |&FEH| 687 67.3 33.8 35.2 205.0 187
ZEH|[ 596 50.3 28.3 29.6 167.8
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A F Y = (20204 )

PR A HEREZ | HEA | HEH(RS =& B & HF BEtm =IE R =
i = 100 100 60 60 320
bR X MR 18] 2/1 4 B [&FEH| 737 74.8 432 449 236.6 222
Y - — - - -
Bl & 100 100 60 60 320
bR X MR 18] 2/1 4 x | &FH| 716 77.9 449 452 239.6 225
ZE - - - - -
i = 100 100 60 60 320
BoR X M E 2[H] 2/4 4 B [&FEH| 733 61.9 41.1 39.4 215.7 201
ZEH - — - - -
Bl & 100 100 60 60 320
bR X MR 2[H] 2/4 4 x | &FH| 768 67.6 396 39.1 223.1 209
S - - - - -
~ |BE = 150 150 100 100 500
ok XM E#®E 108 2/1 4 % SFEH| 1129 90.3 66.6 69.0 338.8 309
2| 99.2 72.6 57.1 56.9 285.8
2/0% ~ |BB & 150 150 100 100 500
FoR XM E#EE 2[H] ® 4 g; &9 1024 101.1 72.2 61.2 336.9 299
ZE¥| 896 76.0 62.4 48.9 276.9
2-4 | o |BE = 100 100 50 50 300
G = X #® 1 2/1 (4 §: 5FH| 723 70.1 23.7 335 199.6 189
) ZEH| 649 50.6 191 276 162.2
A |B & 100 100 50 50 300
G = X = 2[g] 2/2 4 § SF| 767 69.9 28.0 31.8 206.4 190
ZEH| 669 56.7 235 25.1 172.2
2-4 | o |BE = 100 100 #t-EEHHETI0 300
EREEKXRE — 1[8] 2/1F%| (4 §: 5| 518 65.2 67.6 184.6 164
) S| 451 53.5 60.1 158.7
~ |B & 150 150 300
EEREFEKXRE — 2[E] 2/24%| 2 g; AF 97.6 79.1 176.7 161
ZEY 745 69.6 1441
~ |BE = 100 100 50 50 300
HMKXKAATRERMB HE 12/1 4 ; EE - - - - - 206
2| 576 59.0 215 14.9 153.0
~ |BE & 100 100 100 100 400
EHEKRKMFTRE RS BIEA 1/21 4 %_ AE - - - - - 249
ZEH| 598 52.3 60.9 63.6 236.6
~ |BE = 100 100 50 50 300
& B % 108 2/1 4 § 5FH| 649 73.0 32.3 38.6 208.8 201
ZE¥| 526 58.5 26.1 33.3 170.5
~ |BE & 100 100 50 50 300
& B g ISG2[E [2/141%| 4 §_ EFH| 665 69.3 29.7 36.9 202.4 188
ZEH| 606 53.9 25.1 31.6 171.2
o || 100 100 50 50 300 e A
5 EB % 2[E] 2/14%| 4 ; EFiy| 660 69.2 28.9 35.9 200.0 187 i<;:sg;cgﬂ%lﬁ§t;€$ﬂ‘cu$ﬁ
ZEH| 604 529 24.3 305 168.1 == =
~ |BE & 50 100 50 100 300
& | =2 EHE-H(IVR[2/291%| 4 gt SFEH| 321 79.2 32.7 64.9 208.9 192
ZEH[ 280 66.4 28.5 52.1 175.0
Bl & 150 150 100 100 500
& i X =2 18 2/1 4 82 | &FEy[ 1133 122.7 69.1 68.1 373.2 347
ZEHy| 1033 90.6 61.4 60.0 315.3
B 150 150 100 100 500
& i X = 1] 2/1 4 Z |&FEH| 1245 128.4 71.8 68.4 393.1 364
ZEH| 1135 97.2 64.8 60.1 335.6
Bl & 150 150 100 100 500
& i X =2 2[H] 2/3 4 B2 | &FEH|[ 993 112.6 74.1 72.6 358.6 340
ZE¥| 815 89.0 65.3 62.4 298.2
B 150 150 100 100 500
& i X = 2[H] 2/3 4 Z |&FEH| 1137 116.4 79.7 73.3 383.1 361
ZEH|[ 968 93.3 67.9 64.3 322.3
Bl & 100 100 75 75 350
OB OK B E = 1M 2/2 4 B [&FEH| 672 76.4 53.5 50.8 2479 231
S| 571 58.1 459 434 204.5
B 100 100 75 75 350
= B Ok 2 g = 1] 2/2 4 x| &EFH| 748 78.3 53.6 49.6 256.3 244
ZEH| 638 59.7 456 42.4 2115
Bl & 100 100 75 75 350
br Gl NI R 2[q] 2/4 4 2 | &FEy| 689 69.1 495 48.9 236.4 222
ZEH[ 590 52.3 40.6 40.5 192.4
B = 100 100 75 75 350
= B Ok 2 E = 2[E] 2/4 4 T | &FH| 742 74.3 51.7 48.4 2486 233
ZEH| 650 54.6 40.7 40.4 200.7
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A F Y = (20204 )

PR A HEREZ | HEA | HEH(RS =& B & HF BEtm =IE R =
~ |BE = 100 100 50 50 300
FUWFEEHA 54— 108 2/1 4 gt 5FEH| 577 459 32.0 28.0 163.6 122
ZEH)| 554 437 30.6 26.6 156.3
~ |B & 100 100 50 50 300
FWEEEH 42— 2B%EF [220% 4 % &FH| 567 470 31.6 27.1 162.4 123
ZE¥| 539 43.8 29.4 25.0 152.1
~ |BE = 100 100 50 50 300
Z HE KB ® 1EAF 2/1 4 gt &E - - - - 184.0 171
ZE - — - - -
~ |BE = 100 100 50 50 300
= B E R 2 BB 21 4 | g |BFEH] - - - - 192.3 180
S - - - - -
~ |BE = 100 100 50 50 300
= HE B = 2EA 58— 215715 4 §: BEH - - - - 184.9 171
ZEH - - - - -
~ |BB & 100 100 50 50 300
= H B B2 BEE—| 22 4 | g [BFH] - - - - 1945 173
ZE - - - - -
B = 100 100 75 75 350
BB X # E B & 18] 2/2 4 B | &FEH[ 490 70.9 498 60.1 230.0 211
2| 445 56.7 454 54.5 201.2
Bl & 100 100 75 75 350
BB X # B B8 & 1[8] 2/2 4 T | &5FEH| 549 70.2 49.0 60.8 235.1 221
ZEH)| 482 52.3 434 54.2 198.3
B = 100 100 75 75 350
BB X # B B & 2[H] 2/3 4 B | &F8| 686 59.9 493 55.5 233.5 223
2B 619 43.0 436 48.2 196.4
[ 100 100 75 75 350
BB X # B B8 & 2[H] 2/3 4 Z | &5FEH| 728 54.5 49.1 54.3 240.8 227
ZEH| 662 438 436 47.1 200.8
B = 100 100 50 50 300
B X & I/)NEF Al[E] 2/1 4 B | &FEH|[ 716 73.2 33.0 35.3 213.1 195
Ztg| 589 575 27.0 284 171.8
[ 100 100 50 50 300
Bl K& )NZEF Al 2/1 4 Z |&Fy| 768 70.6 31.4 325 211.3 194
ZEH| 660 56.4 26.9 26.3 175.6
i = 100 100 50 50 300
B X & I/)NIEF A2[E] 2/3 4 B | &Fy| 738 63.9 31.1 31.6 200.4 186
2B 620 46.6 25.0 24.1 157.7
Bl 100 100 50 50 300
Bl Kb & )NZEF A2[H] 2/3 4 Z |&Fy| 818 60.8 29.3 28.2 200.1 185
ZEH|[ 718 430 24.7 22.3 161.8
2-4 | , |[BE_=| 100 100 75 75 %200 F AR BERE [F4T A EHE2005
# = 1[a] 2/1 | (4% g; S5FH| 655 68.5 385 46.3 134.8 127 [CHRELELDE BB HDSE
) ZEH[ 580 62.4 404 441 122.8 BVEETHE
2-4| 5 |B K| 100 100 75 75 %200 Feakl BER L (4% A EHE2005
x & % 2] 2/2 | (4% g_ &FH| 593 70.1 43.2 432 130.7 117 [CH]RELLDE. 2BEHDSE
) ZEH| 525 53.8 37.0 37.7 1083 BWMERTHE
2-4 | o |EB & 100 100 80 80 360
W F o2 IR A 2/1 (4% ; &5FH| 626 67.8 585 456 2345 214
) ZEH| 540 57.0 526 35.8 199.4
~ |BE & 100 100 200
W F o2 B B 2/2 2 §_ AT 629 66.1 129.0 113
ZEH|[ 517 479 99.6
Bl & 120 120 50 50 340 N e
B Z| 1EAE 1/21 4 B | &FH| 722 76.2 36.5 27.9 2128 197 fgfg%q:y’]'ﬁﬁ"ﬁ'i%ﬁ
ZEH| 549 61.9 31.0 24.7 172.5 =
B 120 120 50 50 340 R o=
B E| 1[EAE 1/21 4 I |&FEH| 722 76.2 36.5 27.9 212.8 197 Egg%:qg REREHER
ZEH| 624 57.2 305 237 17338 =
Bl & 100 100 50 50 300 N e
B #Z| 1EEE 1721 | 3-4 | B |&FH| 548 53.9 34.9 26.7 170.3 162 fgfg%q:y’]'ﬁﬁ"ﬁ'i%ﬁ
(4% %) SEH 429 473 29.8 235 1435 =
B 100 100 50 50 300 R o=
B E| 1[EEE 1/21 34 | &= |BFEH| 548 53.9 34.9 26.7 170.3 162 fgﬁ%‘qy’j REREHER
(455 2R 477 432 26.9 219 139.7 =
~ |B = 100 100 50 50 300
B i = % 2/1 4 % AT - - - - - BE194%&214
ZEH|[ 630 57.6 27.4 28.0 176.0
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A F Y = (20204 )

PR A HEREZ | HEA | HEH(RS =& B & HF Bits =K 5 =
h I B F K
o =| 120 120 80 80 400 N
% # 2/3 4 | B |[EFY| 57.2% 64.2% 68.1% 68.4% 63.7% 230 %ﬁg%ﬁﬁg(;;ﬁ%wiﬂli@
ZEH[ 49.7% 52.9% 60.9% 59.7% 54.9%
B = 60 60 40 40 200
Bk il 2/1 4 | B [AFY] - - - - 1216 110
ZE - - - - -
i = 70 70 50 50 240
S - 2/2 4 B [&FEH|] 419 479 27.9 36.8 154.5 141
2| 365 38.1 24.4 32.0 131.0
[ 120 120 80 80 400
i i 1] 2/1 4 2 |&FH| 765 88.5 51.7 52.4 269.0 247
ZE¥| 676 73.4 449 46.8 232.7
B = 120 120 80 80 400
yiir W 2[H] 2/3 4 B [AFE| 856 78.8 445 48.8 257.7 234
2| 754 62.0 37.2 39.5 214.0
[ 85 85 70 70 310
B 5% 2/1 4 B [&FEH| 515 495 54.3 56.0 211.3 193
ZEH| 423 38.6 50.0 48.1 179.0
B = 100 100 80 80 360
g = 5z 18] 2/2 4 B | &F| 701 69.3 63.2 51.7 254.3 233
Z¥EH| 623 58.1 55.2 47.0 2226
[ 100 100 80 80 360
g = 5 2[H] 2/3 4 B | &aFt8| 740 82.2 56.5 54.2 266.9 261
ZEH| 655 64.8 470 54.2 231.5
[ 100 100 60 60 320
b )=} g 1R 2/1 4 B2 [&FEH| 530 73.6 46.9 46.2 219.7 200
2B 418 61.3 40.6 38.9 182.6
Bl 100 100 60 60 320
Ei =1 g 2R 2/2 4 B2 | &Ft8| 663 72.0 48.8 40.3 2274 213
ZEH| 564 58.5 40.7 35.1 190.7
B = 100 100 75 75 350
B 2 108 2/2 4 B | &F8[ 670 73.0 490 41.0 231.0 205
2B 620 51.0 42.0 33.0 187.0
B 100 100 200
Bt 2 2[H] 2/3 2 B2 |&Ft8| 760 75.0 151.0 145
ZEH|[ 630 35.0 98.0
B = 100 100 50 50 300
bty x #t 108 2/1 4 B | &Fy| 678 83.6 31.9 39.3 222.6 204
2| 587 72.0 275 35.6 193.8
Bl 100 100 50 50 300
8y £ #t 2[H] 2/2 4 B | &Ft8| 645 79.5 34.7 38.3 217.0 205
ZEH| 564 67.6 32.2 34.0 190.2
B = 120 120 80 80 400
En 5 B 0 2/1 4 B [&FEH| 669 84.0 53.9 59.3 264.1 242
ZEH| 608 74.0 49.6 55.1 239.5
B 100 100 75 75 350
L Yt 2k A 2/1 4 B |&FH| 737 64.8 53.2 50.2 241.9 216
ZEH| 672 51.8 49.1 435 211.6
Bl & 100 100 75 75 350
H L P T 2 Bk B 2/4 4 B2 | &FH| 681 58.9 52.9 49.3 229.2 205
ZEH| 576 45.1 46.9 42.1 191.7
Bl 100 100 75 75 350
-2 1[0 2/1 4 B [&FEH| 586 67.1 425 38.2 206.4 189
ZEH| 545 54.2 38.8 33.5 181.0
Bl & 100 100 75 75 350
2 2[A] 2/4 4 B [&FEH| 571 69.8 46.2 43.3 216.4 197
ZEH| 514 54.1 40.3 36.0 181.8
B 100 100 70 70 340
17 it 18] 2/1 4 B | &Ft8| 540 78.0 51.0 43.0 226.0 211
ZEH[ 480 65.0 47.0 36.0 196.0
Bl & 100 100 70 70 340
171 it 2[H] 2/2 4 B2 [&FEH| 660 84.0 51.0 53.0 254.0 228
ZEH| 600 70.0 470 46.0 223.0
B = 150 150 100 100 500
& F 3] 159 1R 2/1 4 B |&Ft8| 914 113.1 71.0 66.1 341.6 306
ZEH|[ 839 94.7 65.3 55.6 2995
Bl & 150 150 100 100 500
E F 3] |57 2] 2/3 4 B2 | &FEy[ 989 102.7 70.3 62.3 334.2 313
ZE¥| 863 85.4 62.3 53.2 287.2
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A F Y = (20204 )

PR A HEREZ | HEA | HEH(RS =& B & HF BEtm =K 5 =
i = 150 150 100 100 500
L b, g 5z 108 2/2 4 B [&FE| 1038 107.1 70.9 84.4 366.2 342
ZE - — - - -
Bl & 150 150 100 100 500
-0 b F 5z 2[g] 2/4 4 82 | &FEy|[ 914 109.8 74.4 71.9 3475 329
ZE - - - - -
i = 100 100 60 60 320
53 1% 1] 2/1 4 B [&FEy| 582 64.3 37.7 39.1 199.3 183
ZEH|[ 505 52.1 32.9 33.2 168.7
Bl & 100 100 60 60 320
% b4 2[H] 2/3 4 82 | &Fy| 612 68.8 36.7 349 201.6 184
ZEH| 537 50.8 31.2 28.0 163.7
B = 100 100 50 50 300
# H & = 1R 2/1 4 B | &Fy| 539 80.3 36.4 28.2 198.8 184
SEH| 437 63.2 32.8 228 162.5
Bl & 100 100 50 50 300
# B & % 2R 2/2 4 B | &Fy| 648 73.7 35.3 270 200.8 181
ZE¥| 566 60.1 322 228 171.7
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